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gobbboogodn
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1) fz) == (2) f(z) =2°
3) flz) =2+ +1 (4) f(z) = .
(5) f(z) =" (6) f(z) = —
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h—0 h
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:kygﬂ NS0

T h
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h—0 h
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(00y=f(+00000000)000000000O0DODOO0O
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/
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000000(:*)000000000000000000000 5.13
3)0 (x)'=1 (0000 51600)0000000000000
00000002?=2-2000 513(3)00000
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0000002 =4%-2000 513 (3)000000
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0000000000000 Q(z) = f/(z)

1 1
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1 y=
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Y 00000 51500

dy
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gbdbetdbuboboboboboooobubobubobo
0000000000000 00000000000 y= f(x)=¢€"
O00000000000000000 e000y=f(x)=a¢"00
gbogobuougbbodgbogobuooboobobooboo
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x—0 x

0000y=f(z)=e*0000

. flx+h)—flx) . emth—e”
/ o _
P == T
. et —1 b —1
= lime” = ¢e” lim = ¢
h—0 h—0 h

000000 (e*) =e*0000000000000000000

0000 e00O0OOO
000«000000a=e"00000k=1log,a000000

y=flz)=a*= (") =€ 0000000000

f/( ) . ek(z+h) _ ekz i ek:rJrkh _ ekx r . ekh —~1
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h—0 h h—0 h h—0
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5) 0000 edgobbbobbbouoooooobobbbbo
00000 POo00000000000000000ooooon

d
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d

y=log, 000 x:ayDDDDd—x:aylogaDDDD
y

“ dx dx a¥loga xloga
dy
oooo
1 1
1 = 1 =
(logz) = — (log, x) Tloga

6) 0000 gbboogbobbooobbdoodobboodn
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sinx

lim =1
x—0 x

U000snx0000000000D0O00

sin(z + h) —sinz  sinzcosh + cosxsinh — sinx

h B h
_ing cosh—1 +cosa sin iy
a h h
p— pa— 1 2
oooo cosh —1 _ (cosh —1)(cosh + 1) ___ sin h 0
h h(cosh + 1) h(cosh + 1)

000000 (sinz) =cosz0000
cosx:sin<x+%), —sinx:cos(x—l—%) gooooogo

u:x—l—%DDDDDDDDDDDDDDDDD

, d d . 7r d .
(cosz) = — cosx = —sin (;1:+—) = —sinu

dx dx 2 dx
B d . du B B ( L 7T> B .
= smudx =cosu =cos |z 5 )= sin x

sin x

dbbbO0O0tanz = ggobobooogbobo

COS T

AN 1 AN
(tanz) = (sinx > = (sinz)’ +sinz < )
COS T cos T cos T
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1\ d1 d 1 du 1( in 1) sin
= =———— = ——(—sinx) = ——
CcOS T dr u du u dx u? cos?
1
tanx = goono

cos? x

ud
(sinz) =cosz (cosz) = —sinz (tanz) = !
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nooooo DDDDDy:arcsin:cl]y:sinx(—%gxg
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0000 y = arccosz O OOMMy = arccosr <= = =
cosz(0<Lx<mMI0000000O000 arcsinz0000000O
oboooog
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